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Life Sciences/P2 

SECTION A 

QUESTION 1 

3 
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1.1 Various options are provided as possible answers to the following questions. 
Choose the answer and write only the letter (A to D) next to the question number 
(1.1.1 to 1.1.10) in the ANSWER BOOK, for example 1.1.11 D. 

1.1.1 Which ONE of the following structures in an animal cell contains DNA? 

A Centrosome 
B Ribosome 
C Mitochondrion 
D Centriole 

1.1.2 A sequence of nitrogenous bases on a DNA molecule that codes for a 
specific characteristic is called a ... 

A gene. 
B locus. 
C karyotype. 
D genome. 

1.1.3 Which ONE of the following describes evolution, where there are long 
periods of time where species do not change alternating with short 
periods where rapid changes occur? 

A Natural selection 
B Punctuated equilibrium 
C Mutation 
D Speciation 

1.1.4 Below is a list of fossils discovered in South Africa. 

(i) Karabo
(ii) Taung child
(iii) Mrs Pies
(iv) Little foot

Which ONE of the following combinations of fossils is classified in the 
genus Australopithecus? 

A (i), (ii) and (iii) only 
B (i) and (ii) only
C (ii), (iii) and (iv) only
D (i), (ii), (iii) and (iv)
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1.1.8 Which ONE of the following may result in Down syndrome in humans? 

A Failure of the gonosomes to separate during meiosis I 
8 A gene mutation on chromosome 21 
C A recessive allele on the X chromosome 
D Failure of chromosome pair 21 to separate during anaphase I 

1.1.9 In humans, haemophilia is caused by a recessive allele on the X 
chromosome. A heterozygous, unaffected female and an unaffected male 
plan to have children. 

What i 

A 0% 
8 25% 
C 50% �-,,_.�, 
D 75% 

nee that their sons will have haemophilia? 

1.1.10 Scientists found that the long-term use of one type of insecticide results 
in the decreased control of insects. 

From this finding the scientists stated that: 

Insecticides resistance in insects is caused by the long-term use of one 
type of insecticide. 

This statement is a/an ... 

A aim. 
8 conclusion. 
C theory. 
D scientific theory. 
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